#### **ADDENDUM "A"**

N. som

#### **LOCAL AGREEMENT**

This Local Agreement between Department of Transportation, District Three, Ponce de Leon Operations Center, hereinafter referred to as DOT, and the Department of Corrections' Walton Correctional Institute, hereinafter referred to as FDC, shall be an attachment to and made a part of the Master Agreement between the above-mentioned agencies dated 25th day of June 2017.

DOT agrees to compensate FDC for inmate labor the estimated amount of \$720,000.00 as provided for by this Local Agreement for the following activities:

Activity No.	Description	Unit	Unit Price	Estimated Quantity	Estimated Total Cost
1	Supplemental Support	МН	\$10.65	0	\$0.00
28	Facility & Equipment Maintenance	МН	\$10.65	100	\$1,065.00
30	Down Time	MH	\$10.65	430	\$4,579.50
33	Training	МН	\$10.65	573.333	\$6,106.00
36	FDC Officer Travel Time	МН	\$30.53	2080	\$63,502.40
411	Asphalt Repair (Manual)	МН	\$10.65	200	\$2,130.00
412	Asphalt Repair (Mechanical)	МН	\$10.65	200	\$2,130.00
433	Sodding	МН	\$10.65	6000	\$63,900.00
435	Seeding, Fertilizing & Mulching	МН	\$10.65	6000	\$63,900.00
451	Clean Drainage Structures	МН	\$10.65	2,250	\$23,962.50
457	Concrete Repair	МН	\$10.65	1,100	\$11,715.00

459	Concrete Sidewalk Repair	МН	\$10.65	1,500	\$15,975.00
461	Roadside Ditches Clean & Reshape (Mechanical)	МН	\$10.65	4500	\$47,925.00
487	Weed Control (Manual)	МН	\$10.65	4,600	\$48,990.00
492	Tree Trimming & Removal	МН	\$10.65	26,645	\$283,769.25
519	Delineators & Object Markers	МН	\$10.65	600	\$6,390.00
526	Guardrail Repair	МН	\$10.65	285.005	\$3,035.30
527	Fence Repair	МН	\$10.65	550	\$5,857.50
531	Attenuator Repair	MH	\$10.65	281.629	\$2,999.35
540	Graffiti Removal	МН	\$10.65	100	\$1,065.00
541	Roadside Litter Removal	МН	\$10.65	525	\$5,591.25
545	Edging & Sweeping	МН	\$10.65	2000	\$21,300.00
995	Maintenance Support Services	МН	\$10.65	2,580	\$27,477.00
996	Miscellaneous Routine Maintenance	MH	\$10.65	623	\$6,634.95

\$720,000.00

DOT agrees to supervise **zero** (0) community and/or minimum custody inmates as supplemental support labor.

FDC agrees to provide **six (6)** correctional officers to supervise **thirty (30)** inmates for labor to be performed as scheduled by DOT. DOT shall compensate FDC for each unit of work satisfactorily completed at the cost per unit as specified above.

The workweek shall be as follows:

Monday through Thursday, 6:30am through 5:00pm. Normal lunch break will be from 12:00pm-12:30pm. Time begins when DC crew is on-site, here at Ponce de Leon yard. If FDC does not arrive at the Ponce de Leon yard by 7:30am it is considered a no show and will not be compensated for that day.

Other provisions of this Local Agreement are as follows:

DOT will provide a safe means of transportation for the purpose of transporting staff and inmates to and from DOT and Walton Work Camp.

DOT intends to meet the contractual requirements of providing technical assistance and training to FDC supervisors, relief officers, and inmates on the proper work methods and work zone traffic control by providing and making available copies of the Department's District Three Safety Guide for Inmate Work Crews. FDC will incorporate this into their safety training program.

Activities listed in this local agreement are projected to be used; however, the DOT wishes to include any activity number listed in the master contract.

The effective dates of this Agreement are July 7, 2017, through June 30, 2018. Provisions of this Local Agreement may be amended by written agreement of the parties. This Local Agreement may add to and/or expand upon the provisions of the Master Agreement, but shall not modify the intent of the provisions contained therein

The effective dates of this Agreement are July 7, 2017, through June 30, 2018. Provisions of this Local Agreement may be amended by written agreement of the parties.

Agreed to and signed this 7th day of July, 2017.

Department of Corrections	Department of Transportation
Name:	Name:
Title: Elizabeth Mallard, Warden	Title: Eric M Rosnick, P.E.
	Operations Maintenance Engineer
Name:	LEGAL REVIEW:
Title: Major James Pridgen, Work Camp	

Copies shall be sent to the following offices:

DOT Office of Maintenance DOT District Maintenance Office FDC Regional Office, Attention Regional Director FDC Central Office – Bureau of Security Operations

## Addendum "B"

Activity Number	Activity Description	Units	Unit Labor Cost
1	Supplemental Support	Man-hours (MH))	10.65
028	Facility & Equipment Maintenance	Man-hours (MH)	10.65
030	Down Time	Man-hours (MH)	10.65
033	Training	Man-hours (MH)	10.65
036	FDC Officer Travel Time	Man-hours (MH)	30.53
411	Asphalt Repair (Manual)	Man-hours (MH)	10.65
412	Asphalt Repair (Mechanical)	Man-hours (MH)	10.65
414	Base Repair	Man-hours (MH)	10.65
421	Pressure Grouting	Man-hours (MH)	10.65
423	Concrete Pavement Joint Repair	Man-hours (MH)	10.65
424	Concrete Slope Pavement Joint Repair	Man-hours (MH)	10.65
425	Concrete Pavement Surface Repair	Man-hours (MH)	10.65
431	Motor Grader Operation	Man-hours (MH)	10.65
432	Repairing Non-Paved Shoulders (Manual)	Man-hours (MH)	10.65
433	Sodding	Man-hours (MH)	10.65
435	Seeding, Fertilizing and Mulching	Man-hours (MH)	10.65
436	Rework Non-Paved Shoulders, Front Slopes and Roadside Ditches	Man-hours (MH)	10.65
		(0.11.1)	10.65
451	Clean Drainage Structures	Man-hours (MH)	10.65
456	Repair or Replace Storm-Side-Cross Drains	Man-hours (MH)	10.65
457	Concrete Repair	Man-hours (MH)	10.65
459	Concrete Sidewalk Repair	Man-hours (MH)	10.65
461	Roadside Ditches, Clean & Reshape	Man barre ZAMIÑ	40.05
464	(Mechanical)	Man-hours (MH)	10.65
465	Outfall Ditches, Clean & Repair	Man-hours (MH)	10.65
	Mitigation Area Maintenance	Man-hours (MH)	10.65
471	Large Machine Mowing	Man-hours (MH)	10.65
482	Slope Mowing	Man-hours (MH)	10.65
484	Intermediate Machine Mowing	Man-hours (MH)	10.65
485	Small Machine Mowing	Man-hours (MH)	10.65
	Weed Control (Manual)	Man-hours (MH)	10.65
489	Wildflowers	Man-hours (MH)	10.65
490	Fertilizing	Man-hours (MH)	10.65
	Tree Trimming & Removal	Man-hours (MH)	10.65
	Landscaping Area Maintenance	Man-hours (MH)	10.65
494	Chemical Weed & Grass Control (Spot Weeding)	Man-hours (MH)	10.65
	Chemical Weed & Grass Control (Selective Weeding)	Man-hours (MH)	10.65
	Storm Water Management	Man-hours (MH)	10.65
	Control of Exotic / Invasive Species	Man-hours (MH)	10.65
-	Delineators		
	Signs (Ground Signs 30 Sq. Ft. or Less)		10.65
	Signs (Ground Signs over 30 Sq. Ft.)		10.65
UZ I	olgila (Ground Signs over 30 Sq. Ft.)	Man-hours (MH)	10.65

## Addendum "B"

Activity Number	Activity Description	Units	Unit Labor Cost
526	Guardrail Repair	Man-hours (MH)	10.65
527	Fence Repair	Man-hours (MH)	10.65
530	Routine Attenuator Inspection & Service	Man-hours (MH)	10.65
531	Attenuator Repair	Man-hours (MH)	10.65
532	Pavement Striping (Large Machine)	Man-hours (MH)	10.65
534	Pavement Marking (Small Machine)	Man-hours (MH)	10.65
537	Raised Pavement Markers	Man-hours (MH)	10.65
540	Graffiti Removal	Man-hours (MH)	10.65
541	Roadside Litter Removal	Man-hours (MH)	10.65
542	Road Sweeping (Manual)	Man-hours (MH)	10.65
543	Road Sweeping (Mechanical)	Man-hours (MH)	10.65
544	Rest Area Maintenance	Man-hours (MH)	10.65
545	Edging & Sweeping	Man-hours (MH)	10.65
623	Maintenance of Toll Building & Area	Man-hours (MH)	10.65
701	Emergency Fence Repair	Man-hours (MH)	10.65
	Emergency Installation Traffic Control		
702	Services	Man-hours (MH)	10.65
703	Emergency Paved Road Repair	Man-hours (MH)	10.65
704	Debris Removal	Man-hours (MH)	10.65
705	Emergency Seeding, Fertilizing, Sodding	Man-hours (MH)	10.65
706	Emergency Slope & Ditch Repair	Man-hours (MH)	10.65
707	Emergency Storm Draining Cleaning	Man-hours (MH)	10.65
708	Emergency Delineator / Attenuator Repair	Man-hours (MH)	10.65
709	Emergency Lighting Repair	Man-hours (MH)	10.65
710	Emergency Pavement Marking / Striping	Man-hours (MH)	10.65
711	Emergency Bridge Repair	Man-hours (MH)	10.65
713	Emergency Non-Pave Road Repair	Man-hours (MH)	10.65
714	Flood Abatement	Man-hours (MH)	10.65
779	Motorist Aid Callbox Maintenance	Man-hours (MH)	10.65
	Weight Station Building & Grounds	W W.	
781	Maintenance	Man-hours (MH)	10.65
783	Railroad Crossing Maintenance	Man-hours (MH)	10.65
784	Railroad Signal Maintenance	Man-hours (MH)	10.65
787	Highway Lighting Maintenance	Man-hours (MH)	10.65
805	Bridge Joint Repair	Man-hours (MH)	10.65
806	Bridge Deck Maintenance & Repair	Man-hours (MH)	10.65
810	Bridge Handrail Maintenance & Repair	Man-hours (MH)	10.65
825	Superstructure Maintenance & Repair	Man-hours (MH)	10.65
845	Substructure Maintenance & Repair	Man-hours (MH)	10.65
859	Channel Maintenance	Man-hours (MH)	10.65
861	Routine Bridge Electrical Maintenance	Man-hours (MH)	10.65
865	Routine Bridge Mechanical Maintenance	Man-hours (MH)	10.65
869	Movable Bridge Structural Maintenance	Man-hours (MH)	10.65
	Bridge Damage Repair	Man-hours (MH)	10.65
	Ferry Slip Maintenance & Repair	Man-hours (MH)	10.65
898	Tunnel Maintenance	Man-hours (MH)	10.65

# Addendum "B"

Activity Number	Activity Description	Units	Unit Labor Cost
901	Bridge Inspection	Man-hours (MH)	10.65
987	Traffic Control	Man-hours (MH)	10.65
989	Hurricane Preparation Building	Man-hours (MH)	10.65
990	Hurricane Preparation Panels & Bridges	Man-hours (MH)	10.65
991	Emergency Maintenance	Man-hours (MH)	10.65
992	Periodic Maintenance	Man-hours (MH)	10.65
993	Betterment	Man-hours (MH)	10.65
994	Work Performed for Other State Agencies	Man-hours (MH)	10.65
995	Maintenance Support Services	Man-hours (MH)	10.65
996	Miscellaneous Routine Maintenance	Man-hours (MH)	10.65